IITPAL — SWAYAM

39.If
P ={1,2},
then
PxpPxP={(111),(222),(1,2,2),(2,1,1)}.
Ans: Given:

P={1,2}.
First, find the total number of elements
n(PXPXP).
Then, compare.
P={1,2} and n(P) =2
~n(PXPXP)=8

But there are 4 elements

Therefore,
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40.1If
A={1,2,3},B={3,4} and C = {4,5,6},
then

(Ax B)u(AxC)=1{(1,3),(1,4),(1,5),(1,6),(2,3),(2,4),(2,5),(2,6),(3,3),(3,4),(3,5),(3,6)}
Ans: Given:
A={1,2,3},
B = {3,4},
C={4,5,6}.
First, find
AXxBand AxC,
then find
(AxB)u(AxC).
Ax B=1{(1,3),(1,4),(2,3),(2,4),(3,3),(3,4)},
Axc=4{(1,4),(1,5),(1,6),(2,4),(2,5).(2,6),(3,4),(3,5),(3,6)},
(AxB)u(Aaxc)={(1,3),(1,4),(1,5),(1,6),(2,3),(2,4),(2,5),(2,6),(3, 3),
(3,4),(3,5),(3,6)}.

Therefore, |True.

Page-33



